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It can be derived from this, that *17 X% WIN>  — 217 K® WINT 70 YRR

OVERVIEW

"X challenged the view of 727 that X is 71p. He cites a Xn»72 which excludes a
stolen 1277 to be accepted on the nam, from the word 127p. It is apparent
(according to *2X) that we are discussing a case where the owners were WX>n»n and
nevertheless it is 7109 for a 127p; this proves that °1p X% x>, Our Moo will explain
how this is conclusive proof that °1p X7 wIR>. Mo0IN negates the possibility that R
>17 and nevertheless it is 9109 for a 1277 for other reasons.
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For if vX> would acquire the object for the thief, it would rightfully be

considered 11397 (his offering) since legally the animal belongs to the 1273, mooin
anticipates a question and resolves it: And the 277 of the 121 would not be

disqualified on account that it is considered a /3% that comes through a sin.
Seemingly one may argue that since the 1213 acquired this animal through a sinful act of stealing,
therefore the 77710 disqualifies it from being brought as a 127, even if *1p VX’ -

mooIn responds that the rule of 77°2y2 7827 Mx» does not apply here:
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Since the animal belonged to the thief before he designated it for a 1277 (if v
711?). In such a situation it is not considered a 77°2y2a 7X27 Mx» as I will explain
later with the help of 2w:. Therefore since a 713 is 7109 this proves that *1p X7 WX

mooIn anticipates an additional difficulty. If we assume (as 2k does) that *3p X2 WX, then why is
a 0D necessary to teach us that a 91 is 209, Just as in the case where there is no W it is
obvious that it cannot be brought as a 7277 (since he cannot be w”7pn it; for it is not his),2
similarly even if there was ¥R it is obvious that he cannot bring it as a 127p, since [seemingly]
he cannot be w7 it for since 1P 1K WX, it does not belong to the 1713,

mooIn responds:
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! mooIn question is that perhaps *3p ¥ and nevertheless the 710 excludes 91 because it is a 77°2y2 X7 MEH (even
though it actually belongs to the 7213). See ‘Thinking it over’.

% »ax himself argued this point. See previous X2°2°X 71"7 NDOMN.

3 Others add in the text of MDOIN: 772V 7RI M¥H QWA T2 WRY MANT> XP TI0EK *7 own'; [Therefore a pioo is
necessary (to teach us) that it is not qualified (as a sacrifice) since it is a 77°2y2 X277 M¥7.] Since it is W17p therefore
a Y09 is necessary to teach us that it is nam? 7oo.
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However if a thief does not acquire ownership through wiRs the 7279 is

disqualified but nevertheless it is sanctified; it is a 127p that is disqualified to be
brought on the mam.

mooIn explains why (it should not be and nevertheless) it is W17p:
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Even though the X713 did not yet know the reason of ‘name change’, which the

X713 mentions later; ‘initially it was secular and now it is holy’. The question
remains why is a P109 necessary to exclude 2173 if 729 WK WIN°.

mooIn responds
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Nevertheless there can be here a situation of 2R and a change of possession

concerning those nuiaap for which [the 3913] does not assume responsibility.
Everyone agrees that mwa "Wy wIR> 1s Anp. It is for these types of M127p that the 77N teaches us
D317 RD1 1127p; that they are 2105.

SUMMARY

If a 1713 acquires something through the wIX> process and is subsequently w>7pn it,
there is no rule of 77°2y2 AX27 MxN to disqualify it. If one is 2717 a stolen animal
(after WIX°) it becomes w17p through mwA "Wy IR, but is nevertheless a 2109 127p.

THINKING IT OVER
Is the 9109 of 77°2y2 IR MM a RNMTIRT 2100 or a 131277 71097

* At the bottom of this Tnv. Even if we maintain that x> alone is not 1P, however in combination with a aws "W
then ¥IX> is NP, At this point »aX was not aware of this ruling, for otherwise he would have no question on 701> 27
(from the 71wn of MMY; where there is a 0w 11°w). Therefore we cannot say that »2aX maintained that even if "X ¥R
71p but since there is a awn MW, therefore w7pi acquires the animal.

3 R,70.

® Others insert: TwTPA% W 77502 2P *Ip XY 70 WX O ART; [that even if WX alone is not 7 it assists to sell it or
to sanctify it’].

7 When a person makes a 971 to bring a 1277 (he says I will bring a »9w), and afterwards he designates a specific
animal for this 27w, even if the animal is lost or stolen the 771 is obligated to bring another animal for the onbw
(he is 101™MX2 21). When a person makes a 7271 (he says that this ox will be a 0%w), if the animal is lost or stolen
he is not obligated to bring another animal for a 2»>w (he is JN1™INX2 21 1°X). An item for which you are 2%n
n1InX2 is considered in your possession (more than); an item for which there is no n1nX 2vn (which) is not
considered to be in your possession. Therefore in cases where the 1213 made a 7271; the animal is no longer
considered to be in his MW", but rather in the mw~ of wpn (if it gets lost or stolen it is the loss of Wi not of the
213). In such a case wpi acquires the 71271 through Mwa "Wy wR° and the wIps is 7m; however it is 12992 2109 for the
77N writes 21T 891 11207,
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